Math 102 – Quiz #13 (6.1 – 6.3) 
Name ______________________________

Show your work to receive credit!

1.
Solve the following equations by factoring.
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2.
Simplify the following square roots.  Assume that the values of all the variables are restricted to positive numbers.  Do not use decimals.
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(more problems on the other side…)

3.
Simplify the following square roots.  Assume that the values of all the variables are restricted to positive numbers.  Do not use decimals.
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4.
Find the hypotenuse of the right triangle if the legs are 3 inches and 4 inches.

5.
Solve the following equations using the square root method.
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